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QUESTION 1

During a Copy-on-Write SnapShot (CoW) implementation, a customer asks you to demonstrate the Quick Restore
functionality of the software. CCI for this environment is installed on a UNIX host using korn shell and the CoW CCI
device group is COW_db01. Which statement is correct? 

A. This is not possible using Copy-on-Write SnapShot. 

B. Use the pairresync -g COW_db01 -fq normal -restore commands. 

C. Use the export HORCC_REST=NORMAL; pairresync -g COW_db01 -restore commands. 

D. Use the export HORCC_REST=COW_QUICK; pairresync -g COW_db01 -restore commands. 

Correct Answer: A 

 

QUESTION 2

An Hitachi Data Systems customer plans to Use HiCommand Device Manager (HDvM) to manage ShadowImage pairs
on an Adaptable Modular Storage (AMS) system, using central management. Which two are required before
ShadowImage can be managed from HiCommand Device Manager? (Choose two.) 

A. A DM-LU must be setup on the AMS. 

B. Datashare mode on the AMS must be enabled. 

C. A ShadowImage group number must be defined. 

D. The HDvM host agent and CCI must be installed on all hosts. 

Correct Answer: AB 

 

QUESTION 3

HiCommand Device Manager (HDvM) is being used to manage TrueCopy and ShadowImage pairs. A problem has
occurred which appears to be caused by the Command Control Interface (CCI) server. Which two utilities are used to
collect the relevant HDvM log files? (Choose two.) 

A. the TIC utility on the CCI server 

B. the TIC utility on the HDvM server 

C. the hcmdsgetlogs utility on the CCI server 

D. the hcmdsgetlogs utility on the HDvM server 

Correct Answer: AD 

 

QUESTION 4
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A customer wishes to copy a database on external storage controlled by a Universal Storage Platform over 10km using
TrueCopy Synchronous. Which HiCommand product is used to manage the replication? 

A. HiCommand Device Manager (HDvM) 

B. HiCommand Protection Manager (HPtM) 

C. HiCommand Replication Monitor (HRpM) 

D. HiCommand Tiered Storage Manager (HTsM) 

Correct Answer: A 

 

QUESTION 5

On the Storage Navigator frame for a TrueCopy pair operation, the "Status" column on the primary array indicates
PSUS. What are three CCI commands that put the TrueCopy pairs in this status? (Choose three.) 

A. pairsplit -r from primary 

B. pairsplit -e from primary 

C. pairsplit -r from secondary 

D. pairsplit -S from secondary 

E. pairsplit -e from secondary 

Correct Answer: ACD 
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